GOVERNMENT OF WEST BENGAL

DIRECTORATE OF SCHOOL EDUCATION

CENTRALLY SPONSORED NATIONAL MEANS-CUM-MERIT SCHOLARSHIP
EXAMINATION, 2019
(FOR STUDENTS STUDYING IN CLASS VIII)

Mental Ability Test

Class-VIII Code State Code

Year Code Centre Code Serial No.

Roll No. 1

Full Marks : 90
Time: 90 minutes (10-30 AM to 12 Noon)

Instructions to Candidates

Read the instructions carefully before you start
answering the questions. Answers are to be given on a
OMR Answer-Sheet provided.

1. In this Paper you are to answer 90 questions.
Each question carries 1(one) mark. You are to answer
all the questions.

2. Before you proceed to mark in the OMR
Answer-Sheet find out the correct answer from the four
alternatives (a), (b), (c) and (d) against each question in
the Question Booklet. Darken the circle with a Black
Ball Point Pen, to the corresponding correct answer for
the item in the OMR Answer-Sheet.

Example : . @ @

(Here °b’ is the correct answer.)

3. If more than one circle is encoded or darken
against a particular answer, it will be treated as a wrong
answer.

4. There will be no penalty marks or negative
marking for a wrong answer.

5. You are to start recording answers with the
‘start’ instruction from the Officer-in-Charge of your
room/hall.

6. You are to write your Name and Roll No. in
the space provided with for this purpose on the OMR
Answer-Sheet. You must encode your Roll No. in the
OMR Answer-Sheet

7. The OMR Answer-Sheet should be handed
over to the Invigilator before leaving the Examination
Hall. You may take away the used Question Booklet
after completion of the examination.
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MENTAL ABILITY TEST

(Questions 1—10)

DIRECTION: In each of the questions
1 to 10, there are four items, three of which
are alike by some means or other while one is
out of the class. Find out the odd item and
give the answer by filling the circle of the
letter denoting your selected answer on the
O.M.R. Answer-Sheet.

(et 1—10)

[Fede 3 1 e 10 =% 2rar< e 51 w7 =
Hitg, AN (64l @ 7 @FASIE 9T 932
JIfRG S | GE S AR WS e AT
Teal Wb 3 @22 O.M.R. Teaoiws [ie
€ 77 I (O Tea e e i)

1. (a) Tongue (&)
(b) Lips (c31%)
(c) Brain (%)
(d) Nose (71F)

2. (a) Violin (¢375T)
(b) Sitar (¢Te1)
(c) Veena (1)
(d) Flute (Jif#r)

3. (a) Bat (3mM©)
(b) Parrot (foam)
(c) Crow (%)
(d) Pigeon (=)

4. (a) Ganga (%=1)
(b) Yamuna (I5+1)
(¢) Brahmaputra (F=5@)
(d) Tames ((551%)

5.

10.

(a) Cylinder (c51e)
(b) Circle (3©)

(c) Quadrilateral (F9g%)
(d) Triangle (Rrgw)

(a) 21312
(b) 54645

(c) 34534

(d) 78087

(a) Cricket (f&ta5)

(b) Football (F5<1)

(c) Table-tennis (GR=-G0T)
(d) Hockey (2f%)

(a) BCEG
(b) MNPR
(¢) RSUX
(d) KLNP

(a) 72
(b) 26
() 46
(d) 38

(a) 143
(b) 195
(c) 257
d) 15



(Questions 11—20)

DIRECTION: Read the questions carefully
and give the answer by filling the circle of the
letter denoting your selected answer on the
O.M.R. Answer-Sheet.

(e 11—20)

[P 2 ool oo «te, Res Serele
W (A A el Wiy @ @3z O.M.R.
Tea-raz e 38 o1 3 cotie Tex Mol
1]

11. ‘Tadepole’ is related to ‘Frog’, in the
same way ‘Caterpillar’ is related to

relfda’ Aot @ Wi TN, (ouf
(a) Crow (¥1=)

(b) Fish (31=)

(c) Butterfly (2i%itoif®)

(d) Goose (FrerzgH)

12. *Moon’ is related to ‘Satellite’ in the

same way ‘Earth’ is related to

BIT-aF A0 @ VAR FHHF, outw
‘sff a7 e oifFe

(a) Planet (2®)

(b) Sun ()

(c) Solar System (FTEA1e)

(d) Round (¢oRTIR)

13. ‘Oval’ is related to ‘Circle’ in the
same way ‘Rectangle’ is related to

THJOET R @ G TAF, (O
SerwEd” A A FS

(a) Triangle (fage)

(b) Square (3°ftwa)

(c) Diagonal (3°)

(d) Area ((53%e)

14. As ‘Mango’ is related to ‘Fruit’, in
the same way ‘Potato’ is related to
R A A
(a) Root (%)
(b) Fruit (%)
(c) Stem (Jfe)
(d) Flower (F#1)

1S. °“Eye’ is related to ‘Myopia’, in the

same way ‘Teeth’ is felated to

‘I T TR WX Fooge =
SIFE WS-97 e L&

(a) Pyorrhoea (#iiZfam)

(b) Cataract (21®)

(c) Trachoma (GIs1sT)

(d) Eczema («sfem)

16. ‘Book’ is related to ‘Publisher’, in
the same way ‘Film’ is related to

TR (@ AIEFT e e (euf
FEmEd Ax T Fe

(a) Producer (#ae)
(b) Director (ft*F)
(c) Editor (37iiws)
(d) Writer (74<F)

17. ‘Electricity’ is related to ‘“Wire’, in
the same way ‘Water’ is related to
(a) River (@)
(b) Jug (&)
(c¢) Bottle (3res)
(d) Pipe (<)




e’

18. ‘Clock’ is related to ‘Time’, in the
same way ‘Thermometer’ is related to

AEGR-GT T TS
(a) Heat (i)
(b) Radiation (Rf&=)
(c) Energy (*f&)
(d) Temperature (Siof1aT)

19. ‘Oxygen’ is related to ‘Burn’, in the
same way ‘Carbon dioxide’ is related to
ST @ AR K TS
(ou, B CREHRG-G7 oA FHARES
(a) Explode (Rewrael <o1)
(b) Foam (¢t 1)
(c) Extinguish (SIE=1)
(d) Isolate (fafSes stz Ar)

20. ‘Success’ is related to ‘Joy’, in the

same way ‘Failure’ is related to

A WA E TS
(e, el T

(a) Anger (G&F14)

(b) Defeat (#/ATem™)

(c) Sorrow (172%)

(d) Happiness (¥15%)

(Questions 21—30)

DIRECTION: In each of the questions
21 to 30 same codes have been used to write
words. Try to find out the rule of coding in
each case and answer as per direction in the
O.M.R. Answer-Sheet.

(e 21—30)

[t ¢ 21 2t 30 =@ 2rerl aos =% @I
w frg e IRT T | Afe oRE
HOFOREE IS S A BB IR G
o Teal O.M.R. Tezeran RS 38 71 3=
orE Tea fnite 3t 1]

21. Ifin a certain code system PUT =57,
then MAT =7
I et e g PUT = 57 =&,
o3I MAT =?
(a) 38
(b) 34
(c) 39
(d) 41

22. In a coding system BAT = 2ZS,
HIT = 8RS, then FIX = 7

o35 AEe JIFH BAT
HIT = 8RS, wizt# FIX = ?

(a) 6 RW

(b) 6 WR

(c) 8RW

(d) 8RS

278,

23. IfB=2,and BAG = 10, then DOG =?
i B=2, 9 BAG=10 =, ©X
DOG=?

(a) 32

(b) 23

(c) 26

(d) 28

[5]




24. If in a code system FIGURE = 66,

MAN = 28, then MOBILE = ?

I et s 32" FIGURE = 66,
MAN = 28 =3, $/ziZ1 MOBILE = ?

(a) 56

(b) 65

(c) 50

(d) 49

25, If BOOK is coded as 2151511 then
PEN is coded as

7% BOOK-93 #ee = 2151511,
wizrE PEN-93 A7 © 3

(a) 16510

(b) 16105

(c) 16514

(d) 16145

26. If MACHINE is coded as 19-7-9-14-

15-20-11 then what would be code of
DANGER in the same coding system?

7t MACHINE -¢3 5@ 19-7-9-14-
15-20-11 = oE € Ao JIIEW
DANGER-43 ¥ 3 237

(a) 13-7-20-9-11-25
(b) 10-7-20-13-11-24
(c) 11-7-20-16-11-24
(d) 13-7-10-11-25-24

27. If ‘Green’ is called ‘Red’, ‘Red’ is
called ‘Blue’, ‘Blue’ is called ‘White’,
“White” is called ‘Yellow’, then what is the
colour of grass?

T ‘Green’ & 3051 ‘Red’, ‘Red’ & I
‘Blue’, ‘Blue’ @ 3= “White’, “White’ & It
“Yellow’, ©72 974 98 B =4 ?

(a) Blue (J)

(b) Yellow (Z5%)

(c) Red (=)

(d) White (=w1)

28. If ‘Blue’ is called ‘Green’, ‘Green’ is
called “White’, “White’ is called ‘Red’, ‘Red’
is called ‘Black’, then what is the colour of
clear sky?

I ‘Blue’ & 9&7 =8 ‘Green’, ‘Green’
@ =0 28 “White’, ‘“White’ (& & 28 ‘Red’,
‘Red’ & 71 2@ ‘Black’ 73 #fa9@ Sz 1
I 73

(a) Blue ()

(b) Green (713%)

(c) Black (=its)

(d) Red (&)

29. Inacertain code system ‘123’ means
‘bright little boy’, ‘145’ means ‘tall big boy’
and ‘637" means ‘beautiful little flower’.
Which of the following represents ‘bright’ in
that code?

@I @< FRewre 12393 919 ‘bright
little boy’, ‘145-az &id ‘tall big boy’ @
‘637-99 ¢ ‘beantiful little flower’,
@S ‘bright’ & Ffo® w2

(a) 4

() 3

(c) 1

(d) 2

30. Ina certain language ‘I like you’ =123,
“You love me’ = 345, and ‘They are crazy’ = 890.
How will you write ‘They love me’?

T e ©rEE ‘Tlike you' =123,
‘you love me’ = 345 @32 ‘They are crazy’ = 890
=7, ©ig@ ‘They love me’ iR &3 ?

(a) 853

(b) 804

(c) 840

(d) 845
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(Questions 31—35)

DIRECTION: Following questions are
based on letter series. In each series some
letters are missing. The missing letters are
given in the proper sequence as one of the
alternative. Find the corrective alternative in
each case and mark the right alternative on
the O.M.R. Answer-Sheet.

(ert 31—35)

(o s Tpa el s eifd skere ol
ors Ty Ry wiwre | 5 ewm aibee
w@ie SrEaslE APE EWEEIE AEE @i |
el evsm s few® am 3w O.MR.
Teaeiaa S g8 =3¢ T o Tew o
T

31, a_b_abb_ab__a_bba

(a) babba
(b) baaba
(c) abaab

(d) bbaab

32. __bec__ac__aabb__ab__cc
(a) abaca
(b) aabca
(c) bcaca

(d) bacab

33. __OPQN__PQNO_QNOP__
(a) PQNO
(b) ONQP
(c) NQQP
(d) NOPQ

[7]

34. aab__aa_ bbb__aaa_ bbba
(a) abba
(b) aaab
(c) baab
(d) abaa

3s. TS 5

pqr ___ 1S __
(a) pqrrppgq
(b) sgprrqr
(c) Spqpprs
(d) sqppgpr

L

(Questions 36—40)

DIRECTION: Study the diagram which is
given below and give the answer of the
questions 36 to 40 on your O.MR.
Answer-Sheet.

(et 36—40) _
[Frode ¢ Stoz Bl SrETea =71 S0l @98 O

T fofe v 36 W 40 “ifw amefm R
Teals O.M.R. Tezoia Wie g8 78 Sl |

25 Players
((TETATG)
7 ) 18 Engineers
\22[4/ (o)
30
— Artists
(s
36. How many Players are neither Artists
nor Engineers?
T© T (AETG R T gk Heghmee
A7
(a) 18
(b) 25
(c) 22
(d) 11
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37. How many Artists are only Players?
TS T MBI (FIETNG ARG ?
(a) 26
(b) 30
(c) 22
(d) 32

38. How many Artists are neither
Engineers nor Players?
o G PRI 2fgTFRe 77, (UrERee W 2
(a) 30
(b) 18
(c) 26
(d) 47

39. How many Engineers are Players and

Artists both?

T T LgEE, Qe 93] R
ToriR?

(@ 7

(b) 4

(c) 11

(d) 18

40. How many Engineers are neither
Players nor Artists?
@ G 2GR e w7, Filfle e
(a) 22
(b) 25
(c) 30
(d) 18

(Questions 41—50)
DIRECTION: Study the diagram which is
given below and read the questions carefully
and give your answer in O.M.R.
Answer-Sheet.
(ers 41—50)
(et 3 Riwe Paels eiEmeE &% @ 9k
PeafE ST #itel @3 O.MLR. Tea+itg T
e ]

41. Which  diagram  shows  the
relationship between School, students,
Teachers?

ANva = B e, 2@ 93 M
Yy e 7

0@ o
o@D «QD

42. Which  diagram  shows  the
relationship between Indian, Cricketer,
Batsman?

qMmz @ Balt omem, fFEbE g
GIBH-GF F77AF (10T 2

@) (b) @)
©) @ d @



43. Which
relationship between Edible food, Fish,

Green Plants?

Ava e Hafd 4, g @3k TG e

K AAFS ¢

0@ »(ED

diagram

shows

0T

44. Which of the following diagrams
represents the relationship among Birds, Kite

and Deer?

Tsa o Baf «iif, foa e 2 St

HE el A ?

(a)

(c)

45. Which of the following diagrams
represents the relation among Atoms, Protons

and Electrons?

Awz @i Balb w=wne, (&b @ SEhe-
G2 Ty AR I 2

(a)

(c)

(b)

(d)

(b)

(d)

S8

Q0O
O

ol

&

46. Which of the following diagrams
represents the relationship among TV, Radio
and Picture?

oz @im Bal Bfe, cfos ek ==

) FAER A1 FE?
QO
O

(a)
(c) @O

(b)

(d)

47. Which of the following diagrams
represents the relationship among Granite,
Tree and Water?

v @ Hab aA=EE, im @32 G

T HAEE 3] B 2
OO @
(O)o

(b)

(a) O

(d)

48. Which of the following diagrams
represents the relationship among Computer
skill, Graduate, Employed?

Fewa i foafs FITor v, Froe @k

SIERGIA Wy A e I ?
0] @
OF

(b)

(c) OO
O

(d)

[9]




49. Which of the following diagrams
represents the relationship among India,
Lucknow, England?

A ol foalt eme, @ @k
BENET S04 T=EE 2ol IR P

(a) OOO (b) @
(c) @O (d)

50. Which of the following diagrams
represents  the  relationship  among
Co-education, Boys and Girls?

Ave o Balt =M=, e 9
Aferera Sy T 30 e

(a) OOO (b) @ O

@) «

(Questions 51—60)

DIRECTION: In each of the following
questions, a number of series is given with
one of the terms missing. Choose the correct
alternative that will continue the same pattern
and answer on the O.M.R. Answer-Sheet by
filling the circle.

(et 51—60)

(o ¢ T 2o oo Ry wian @ifile T
b 3R I R TR | R s TR
(?) Brzw 7w 0% Tt O.M.R. Seaeias
% 3@ 229 =@ (o Teg e i )

51. 3, 14, 25, 36, 47,?
(a) 55
(b) 58
(c) 59
(d) 60

52.

53.

5.

56.

1, 8, 27, 64, 125,7
(a) 625
(b) 650
(c) 216
(d) 200

2,6, 12, 20, 30, 42, 56, ?
(a) 63
(b) 68
() 70
@ 72

3,4,8,17,33,?
(a) 55
(b) 52
(c) 58
(d) 60

2,3,5,7.11,13,7
(a) 16
(b) 17
© 15
(d) 18

336, 168, 84,42, ?
(a) 22

(b) 21

(c) 212

(d) 21-5



4
57. 5,13,25,41,61,? (Questions 61—78)
(a) 85 DIRECTION: In each of the questions 61 to
(b) 80 78 a figure or a set of figure is given, each of
which bears certain numbers following a
(c) 90 certain pattern. You have to decipher this
(d) 87 pattern and accordingly find the missing
number in the figure and denoting your
selected answer on O.M.R. Answer-Sheet.
(e 61—78)
(o s 61—78 sifg afel aee qvom fo
e | e fua s FiFe g st st e
] wen SR | @B WAel wedl saieRE a3
4 58. 2,9,28,65,126,? e Reomew @0l oME IE T @R
) (a) 201 feyPiea @ APe Tea® O.M.R. Teasiad
(b) 217 ﬁﬁ%www@wﬁcﬁ@mn
() 226 1539 4528 56
. @ 19 Y Y Y
(a) 28
59. 4,9,20,43,90,? (b) 35
(a) 165 (c) 21
(b) 170 (d) 23
(c) 175
H (d) 185
! 62.
5 314
8 | 4|16
8 s ) (I
60. 49,36, 18,7
(@ 12 (a) 32
(b) 10 (b) 20
, (c) 8 (c) 49
d 9 (d) 24
[11]




(a) 892
(b) 298
(c) 928
(d) 982

(a) 122
(b) 132
(c) 125
(d) 134

o /N
65- N 1
606 6
25 9 64 36 121 81
12 21 At 9 21
16 49 100 W

(a) 40
(b) 20
(c) 30
(d) 10

12

18

7] 14

21

(a) 5
(b) 8
() 3
@ 7

(a) 343
(b) 625
(c) 4

(d) 512

(a) 201
(b) 176
(c) 198
(d) 208




69.

8 7
36 | 9 28
(a) 27
(b) 28
(c) 35
d) 7
@ 70 (a) 81
(b) 343 .
(c) 289
(d) 729

4§ G AN w

RZANAN D, 4

(a) 6
(b) 4
(c) 1
(d) 3

1-2

12

36

18

0-15

(a) 0-03
(b) 0-3
(c) 05
(d) 0-05

® DO @O ®
OREER I
& © @

(@) 7
(b) 8
(©) 9
(d) 6

10

17

‘11

10

16

11

(a) 12
(b) 11
(c) 14
(d) 13

[13]




5 6

36 25
(a) 14
(b) 21
(c) 49
(d) 28

71

w)

=
~3
=
<

(a) S
(b) Q
©T
(d) F

78.

F |P

HS?\

(@Y
(b) E
(c) Q
(d) D

79. How many triangles in the figure

given below?

Nz Habrs

Fouf fage SmMz?

(a) 26
(b) 27
(c) 28
(d) 25

80. How many rectangles are there in the

following figure?
fafre Fouf SHSrFY ACR?
<F ]

(a) 8
(b) 7

(d) 10




(Questions 81—385)

DIRECTION: In each of the following
questions select a figure from the four
alternatives which placed in the blank space
of figure would complete the pattern. Indicate
your answer by filling the circle of the letter
denoting your selected answer on the O.M.R.
Answer Sheet (81—=83).

(2% 81—85)
(fod ¢ Sitse 81 (T 85 1w emulem *arge

51t e o i @b Fiw =i asfH s
3@ O AgW 3@ W@ et O.M.R. T

TS 38 239 I (o Tea TS w3t )]
81.
L
e @ . e
..; 9
L '
L
L] e o
@ | °,°* ®| .
L ® 00
(C) LN (d) LN BN
82,
Z
(a) (b)
(c) (d)

[15]

83.
?
(a)
(c)
84.
8
8 BlY o
B
o Y ‘)
o
(@ |3 XB
T
8| a
(c)
Y | B
85,

(a)

(c)

(b)

(d)

(b)

(d)

(b)

(d)




(Questions 86—90)

DIRECTION: In each of the questions
86 to 90 three out of four figures are alike in
same respect and one is different from others.
Find out the odd figure in each question and
indicate your answer by filling the circle of
the letter denoting your selected answer on
the O.M.R. Answer-Sheet.

(et 86—90)

[ 2 86 (A 90 oF® emafe ateba
e 5 sivaa W &A@ w1l @Erei
G @R G SeFE (A e | afeh
A @2 s el @3 a@ #fe Teaf Mdvw
@ @3 O.M.R. Teaoitza Ring g8 s34 33
s Tez e FEl )

86.

]

=TT

PR

]

=

="

e

]

=]

—1

(a)

87.

(b)

(c)

(d

A

AN

/D

(a)

(b)

(c)

(d)

[16]

NN

AN N

NN

VN

VN

NN

PR S
NN

(a)

89.

(b)

(c)

(d)

(a)

(b)

(c)

(d)
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Mathematics afe®
1. If x=y+z, then the value of 1. x=y+z 3@ x3—y3—z3 —3xyz-43 I
x3—y3—33~3xyzis =
(a) x (a) x
) y () ¥
© 0 ) 0
d) xyz (d) xyz

2
7 2 1 § (JH%) =3, then the value of

o 4 willbe
X

(a 1
(b) 0
(c) -1

d) 343

2
3. If x? =1, then the value of x is

(a) 1
(b) -1
() 0
(d) 2
x+y
4. If x*y=x—_y , then the value of 5% 3
will be
(a) 8
(b) 2
(c) 3
(d) 4

5. 1f 7x+2 _4x—1 then the value of x
. 5 2
will be

(a)
(b)
(c)
(d)

LI R B[ LI b=

2
2 (x+—1£) =3 3= x3+%-a§ﬂmm

(a) 1
(b) O
(c) -1

d) 343

2
3. %=Iiﬁx-aawm

(a) 1
(b) -1
(c) 0
(@ 2
4. ﬂﬁx*y:‘;—i-% 7T, O(F 5 * 397 N A
(a) 8
(b) 2
() 3
(@) 4

5, 7x;2=4x2—1 T x93 W T

(a)
(b)
()
(d)

W B W= |
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6. If the value of %th of a property be

Rs. 2100, then the value of %th of that
property will be

(a) Rs. 1500

(b) Rs. 1600

(c) Rs. 1200

(d) Rs. 2200

7. The value of \/885+\/212+\/169 is

(a) 20
(b) 13
(c) 15
(d 30

8. If each exterior angle of a regular
polygon be 45°, then the number of sides of
that regular polygon will be

(a) 5
(b) 8
(c) 4
@ 6

9. In AABC, £A=45°,/B=35°,/C=100°,
then which one of the following is true?
(a) BC>AC>AB
(b) AB>BC>AC
(c) AB=BC=AC
(d) AB>AC>BC

10. If x+y+2z=0, then the value of

6. I TR %wmmzlmmm

. SN
(a) Rs. 1500
(b) Rs. 1600
(c) Rs. 1200
(d) Rs. 2200

7. \[8854- V212 +/169 @3 =i 7=

(a) 20
(b) 13
@) 15
(d) 30

8. @1 aw Igored el IfRerwd 45° T
OfF AR 29
(a) 5
(b) 8
(c) 4
(d) 6

9. AABC(® /A=45°./B=35°./C=100°
0 AH (@RS ADE?
(a) BC>AC>AB
(b) AB>BC>AC
(¢) AB=BC=AC
(d) AB>AC>BC

| £ 3
10. x+y+z=0 == E+E+;y—-kﬂ'ﬂ'=nﬂ
=
(a) 0
(b) 3
© 1
(d) -3




£

2

L

s

11. If the angles of a triangle are in the ratio
2:2:5, then the difference between greatest and
smallest angle is

(a) 10°
(b) 20°
(c) 30°
(d) 60°

12. If a% of Rs. 2500 + 25% of Rs. 680 =
Rs. 670, then the value of a will be
(a) 20
(b) 10
(c) 12
(d) 122

13. Average of first two prime numbers is
(@) 15
(b) 2:5
(c) 4
(d) 2

14. A square park each side measuring
80 metre is surrounded by a 10 metre wide
path. Then the area of the path will be

(a) 800 sq.metre
(b) 900 sq.metre
(c) 2800 sq.metre
(d) 3600 sq.metre

-£= x_y=
15. Ify 7. then i

3

@ 3
4

(b) 3

© 3
1

d 3

11. 9= Ggrem @eafm aEa Smers 2:2:5
TE A I G AT (RS (@I Meye 2hem
TR

(a) 10°
(b) 20°
(c) 30°
(d) 60°

12. 250054 a% + 680 5= 25% = 670 5!
ElG R RUER DRI
(a) 20
(b) 10
(e); 12
(d) 12%

13. =9 45 e st o1 2
(a) 1-5
(b) 2:5
(©) 4
) 2

14. 80 o7 I=Rf® Isffem iidFq vfafes
10 Bl vewl Al wite | A1 Crawe I
(a) 800 sq.metre
(b) 900 sq.metre
(c) 2800 sq.metre
(d) 3600 sq.metre

X _ .l S
15. 7 5= 5%
@ 3
4
(b) 3
(©) %
1
(d) 3




16. If the sum of two numbers is equal to
the sum of their reciprocals, then the product
of two numbers will be

(a) Y2
(b) 2
(c) 3
(d 1

17. If each side of a square be increased by
10%, then its area will be increased by

(a) 10%
(b) 20%
(c) 21%
(d) 100%

18. Three line segments are of lengths x cm,
y em and z cm and x>y>z. If these segments
be the lengths of three sides of a triangle, then
which one is incorrect?
(a) x+y>z
(b) x+z>y
(c) y+z>x
(d) x=y+z

19. If A:B=2:3, B:C=4:5, then what is
A:B:C?
(a) 2:12:15
(b) 8:12:15
(c) 12:8:15
(d) 8:15:12

20. What is the value of 1% of 0-1?
(a) 0-01
(b) 0-0001
(c) 0-0101
(d) 0-001

16. 75 320 TP ©IHa SIS FABS Tl
Z(E % FYEE BeITeT Z
(a) 12
(b) 2
() 3
(d) 1

17. @3 3+fweas offc aes traf 10% 3 et
Tz19 cwawe 3fE A
(a) 10%
(b) 20%
(©) 21%
(d) 100% *

18. &6 F@e=aea 79f x cm, y cm €%
zom @R x>y>z | T €2 FFeRiee feai @i
fargre foaf are 2 orrE @Rt #fie 7w e

(a) x+y>z
(b) x+z>y
(c) y+z>x
(d) x=y+z

19. A:B=2:3, B:C=4:5%37 A:B:C=9%?
(a) 2:12:15
(b) 8:12:15
(c) 12:8:15
(d) 8:15:12

20. 0-1-99 1%=%?
(a) 001
(b) 0-0001
(c) 0-0101
(d) 0-001
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Physical Science

21. The melting point of a substance is 0°C,
in Fahrenheit scale it will be

(a) O°F
(b) 5°F
(c) 32°F
{d) 212°F

22. The Potential difference between the
two ends of a conductoris 10V. If ImA current
passes through the conductor then the
resistance of the conductor is

(a) 10kQ
(b) 10Q

(c) 10092
(d) 1000

23. Which of the following has radioactive
property?
(a) 6C14
(b) ,He'
(©) 8016
d N

24. Which of the following is an organic
compound?

(a) SO,
(b) NO,
() CH,
(d) HNO,

25. Molecular formula of chloroform is
(a) CH,Cl,
(b) CHCI,
(¢) CHCI
(d) CCl,

[7]
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21. @6 e oiTiE 0°C, FIEAWRIZs CHeE
@F T TE
(a) O°F
(b) 5°F
(c) 32°F
(d) 212°F

22. 3f #fFAIZT 12 ATE e arew 10V, 3
@3 W T ImA @3z I wE +if=igie g

A

(a) 10kQ
(b) 10Q

(c) 100Q
(d) 1000

23, fAsfiRwefm Wi (e e
(a) 6C14
(b) ,He?
©) 8016
() TNM

24, FwfERosfm A tow e
@) SO,
(b) NO,

() CHy
(d) HNO,

25, @FRARGE SRE AT 27
(a) CH,Cl,
(b) CHCI,
(¢) CHCI
(d) CCl,
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26. What is the mass of a body of weight
50 N (take acceleration due to gravity = 10m/s?)?
(a) Sg
(b) 5kg
(c) 50g
(d) 50kg

27. The instrument used to measure current
in a circuit is
(a) Ammeter
(b) Voltmeter
(c) Voltameter
(d) Electroscope

28. If a body falls freely from a certain
height on the surface of the earth and the moon
respectively, then the distance covered in
1 second

(a) is equal in both cases.

(b) is greater in the moon than that of

the earth.

(c) is greater in the earth than that in
the moon. i

(d) depends on mass of the body.

29. How much CaCO, is required to react
with excess of dilute HCI to produce 66g of
CO,? [given at. wt. of Ca, C & O are 40, 12
and 16 respectively]

(a) 150g
(b) 100g
(c) 200g
(d) 250g
30. A lead pencil contains
(a) lead-nitrate
(b) iron-sulphide

(c) graphite
(d) phosphorus

26. 50 N e @b €7 99 o 23 (4,
wfoFde gared I+ 10m/s?) ?
(a) 5g
(b) Skg
(c) 50g
(d) 50kg

27. @I I$ANCS 2RI NA T 28
(a) SyfGE
(b) cSrHRGR
(c) coroifinE
(d) FETRICEH

28. 36 WE WWGFE ARAAD Gk SHAD
a5 T8 Tweol (e Avre (el @, SIgE
1 GRS SIS 779

(a) T&T FCE AT A |

(b) e gEE biw @ = |

(¢) Bora gemiw #jfadite @ 23|
(d) &7 swEa Tag e F9ia |

29. 66g CO,2Zge T30 wfefae a1y HCl-99
X Feol #Afid CaCO,~a7 Rieem <oite e
(2@ Ca, C €32 0-93 AW awy q2AEFE
40, 12 932 16)

(a) 150g
(b) 100g
(c) 200g
(d) 250g

30. TG (PHPE S
(a) (TG FEEL
(b) SR AFTFRG
(c) awizs
(d) =@ =™

[8]
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31. Atwhat temperature density of water is
maximum?
(a) 0°C
(b) 4°C
(c) 10°C
(d) 20°C

~32. Acidity of Calcium hydroxide is

(a) 5
(b) 1
() 2
(d) 4

33. Constituents of fuse wire are

(a) Pband Sn
(b) Pb and Cu
(c) Snand Cu
(d) Pb and Fe

34. Which of the following substance is a
good conductor of heat and electricity?
(a) Oxygen
(b) Diamond
(c) Pure water
(d) Graphite

35. Find the total number of atoms present
in Ammonium sulphate molecule.
(a) 1
(b) 5
(c) 10
(d) 15

31. @9 SO TER Iy N 7
(a) 0°C
(b) 4°C
(¢) 10°C
(d) 20°C

32. e QRYHRCE wHaRe! 76
(@ 5
(b) 1
() 2
d 4

33. f%w itam G ==

(a) Pb«=2 Sn
(b) Pb @ae Cu
(c) Sn4@zg Cu
(d) Pb @3z Fe

34. fafaRe smdalm @Rl w9 ¢ oty
AR e

(a) wfSee
(b) Az
(c) Rum s
(d) areizs

35. SIGHTEIN ATFS TS A Ay P ?
(@) 1
() 5
(c) 10
(d) 15

[9]
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36. The acidic gas evolves when Sodium
bicarbonate is heated strongly—

(a) CO,
(b) Na,O
(©) CO
(d) NaOH

37. Which of the following is an
Amphoteric oxide?

@ K,0
(b) Na,0
() ALD,
(d) €O,

38. At normal pressure heat required to
change 1g of ice at 0°C to 1g of water at 0°C is

(a) 1 cal
(b) 40 cal
(c) 80 cal
(d) 100 cal

36. GG IRFEEE S Ted FhE @
i e Tesy 71 i &,

(a) CO,
(b) Na,0
(c) CO
(d) NaOH

37. fsEReslr @b Tyl iz 2
(@) K,0
(b) Na,0

(c) ALO,
d) €O,

38. Teifd® 1A 0°C TeelF 1g |WHF@
0°C Taee17 1g Oe ARe® A0S (SR 2N
ELAVET]

(a) 1 cal

(b) 40 cal
(c) 80 cal
(d) 100 cal
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Life Science

39. Which organ is infected by Hepatitis B
virus in human body from the following?
(a) Liver
(b) Lung
(c) Eyes and Nose
(d) Heart

40. Which one of the following is not an
endocrine gland?
(a) Pituitary gland
(b) Thyroid gland
(c) Adrenal gland
(d) Salivary gland

41. A lichen is an association between
(a) Algae and fungi
(b) Algae and virus
(c) Bacteria and virus
(d) Bacteria and fungi

42. How many arms are present in Star fish?
(a) Three
(b) Four
(c) Five
(d) Two

43. The presence of the following gas in
confined air of mines may lead to the death of
miners

(a) Carbon monoxide
(b) Oxygen

(c) Hydrogen

(d) Nitrogen

44. Instead of using harmful thermocol
plates, plates made of leaves of which plant
may be used is

(a) Sundari
(b) Neem
(c) Bamboo
(d) Sal

G [qea

39, WAtz ey Sfafie wmefem s W
oD @AGRDA & eizan gl wiee 2
(a) Tge/forerm
(b) FrpI/=e
(c) (514 ¢ T+
(d) zHe/x0

40. facy Sfale afelm Sty @@ swrwa
g 77 ¢
(a) Fopi=oifa afg
(b) URFEC &if¥
(c) wnifgae afy
(d) == afg/smenRefy e

41, IR AR AR oifde 2 el ==
(a) TS 93 T
(b) TR @3 SR
(c) TRHGRA @32 SRS
(d) I=ERE 9k 2@

42. ORI AT AT A FO?
(a) fowio
(b) o1zl
(c) =l
(d) 72

43. 7 3% IS @ A Urete < wfirr
TP AR AT O Za
(a) I TG
(b) wifsicem
(c) ZRgTE=
(d) wiRGiTew

44, o AHFER A& I (@B AfRars
@ TfgmR #iret fara tefd e 9ge T e o

=
(a) 7%
(b) f
(c) dpd
(d) *iret

[11]
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45. The coastal areas of the world are
gradually moving towards destruction mainly
due to

(a) noise pollution
(b) drought

(c) forest fire

(d) global warming

46. Which one of the following hormone is
known as “Emergency Hormone”?
(a) Thyroxine
(b) Adrenaline
(¢) Insulin
(d) Glucagon

47. ‘Trifala’ is the combination of the
following fruits
(a) Amlaki, Apple, Lemon
(b) Lemon, Grapes, Pomegranate
(c) Haritaki, Guava, Lemon
(d) Amlaki, Bahera, Haritaki

48. Spines of Opuntia sp. (Fanimanasa) are

45. |fadz Topaas) weeefa A Aiw woE
AR IETS (T ToA17 &) SET TR ©f 6
(a) *rwgel
(b) <=t
(c) wiAEs
(d) foet Tz

46. Fefafee womelE T @W s@EEbee
“errlfeies Zamm” @l 22
(a) URFRM
(b) snifg=fe
(c) TPl
(d) #=to

47. @ ol =ee gaa fawet <on = orefe 2=
(a) SR, S, &Y
(b) 13, ST, A
(c) 2o, cofmmat, 71g
(d) =, ezat, Zfaed

48. TN (Opuntia sp.) 9ites Ioief 2@

actually the AFCATH
(a) modified stem (a) +feafEe e
(b) modified root (b) =fafEe g
(c) modified leaves (c) #Rae et
(d) modified petiole (d) *IfafSe sags
49. The non-pigmented plastids that 49. 32 Ae 7 o e T AW HHT IR
basically store food materials are L, @’ =
(a) Leucoplastids (a) FECamte
(b) Chloroplastids (b) @D
(c) Rhodoplastids - (¢) @eEmtE
(d) Phaeoplastids (d) crezpitS
50. Which one of the following is not a 50, fafERe GaelE W @b wrefim G
desert animal? wa?
(a) Jellyfish (a) cEferes
(b) Gerbil (b) wrafae
(c) Camel (c) T
(d) Rattle snake (d) =i5e Aot
[12]

[

fﬁq



=

=
\

3

4

=

51. Enzymes that take part in cell autolysis
process are present in
(a) lysosome
(b) golgi bodies
(c) endoplasmic reticulum
(d) mitochondria

52. Haemoglobin present in Red Blood
Corpuscles is a type of
(a) carbohydrate
(b) lipid
(c) protein
(d) vitamin

53. Leaf-tendrils are present in the
following plant:
(a) Banyan
(b) Pea
(¢) Gourd
(d) Grape

54. Large brown algae seaweeds that grows
in under water forests in shallow oceans are
(a) Kelps
(b) Sea anemone
(c) Octopus
(d) Aloe vera

55. Write down the full form of IUCN.

(a) International Union for the
Conservation of Nature and
Natural Resources

(b) Indian Union for the Conservation
of Nature and Natural Resources

(c) International Union for the
Cultivation of Nature and Natural
Resources

(d) Indian Union for the Cultivation of
Nature

51. @A SRR AR e
TeEHITIE AT
(a) ARSI
(b) @ IECS
(c) areizEhiE @bRECHAE
(d) RG-S

52. e Telw Soifye R 2 9
CEaCE]

(a) *RF=

(b) cyzErom smiel
(c) caifow

(d) feoifsm

53. “ad ol T fafafee Sfem
(a) W®
(b) 6
(c) el
(d) e

54, Qs qrefa 2= ANTS *ies = TR
RS WL I AN HB AT ({0Y €05 Ol
el

(a) =
(b) s T
(c) S

(d) 53N (Aloe vera)

55. TUCN-93 57} eif6 =1l |
(a) TORFTHE 2SR T 1 PGS
T (51E SIS ISR ReeH |
(b) 2w T T W FAGACSHA SIF
(513 SIS B RN |

(c) THrMIE Tefe T w FIFGreA
[ (514 WIS BT Ao |

(d) 2w T T3 W FIFOreH I
(CIAG]

[13]
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History 3feaw
56. ‘Ramacharita’ was written by 56. armfae’ agh aoal s
(a) Ramapala (a) arsi#ie
(b) Krittibas (b) FfEar
(c) Sandhyakar Nandi (c) N7 7l
(d) Tulsidas (d) e
57. Acharya Haraprasad Shastri discovered 57. wisif z@eEm =iF T a7 s Sz
the manuscript of ‘Charyapada’ from FAA
(a) Bhutan (a) TON (V=
(b) Nepal (b) =ie (A
(c) Bengal (c) T (T
(d) Pataliputra (d) =iofers@ uee
58. The Delhi Sultanate was ended in 58. ffETs Jereif wwa @A 9%
(a) 1526 A.D. (a) 1526 R
(b) 1527 A.D. (b) 1527 o1
(c) 1529 A.D. (c) 1529 %6z
(d) 1530 A.D. (d) 1530 fasoicsr
59. ‘Akbarnama’ was composed by 59, “wFRFA A5 FATRLE
(a) Bairam Khan (a) tzam &
(b) Jahangir (b) w=HA
(c) Abul Fazal (c) I TEE
(d) Akbar (d) w34
60. The Adina Masjid was constructed by 60. wifie sEifem tofa tafers@
(a) Sikandar Shah (a) Premm iR
(b) Sher Shah (b) =iz
(c) Adil Shah (c) e =iz
(d) Ahmed Shah (d) sz =iz
61. The Battle of Khanua was won by 61. 4T ICa THENS FEAN
(a) Sangram Singha (a) e g
(b) Pratap Singha (b) @i Fitg
(c) Babur (c) ==
(d) Humayun (d) =g«
[14]
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62. Vasco-da-Gama reached at Calicot in

(a) 1298 AD
(b) 1398 AD
(c) 1498 AD
(d) 1598 AD

63. With which land revenue settlements
‘Sunset Law’ was attached?

(a) Permanent Settlement
(b) Ryotwari System

(c) Mahalwari System
(d) Vaiyachari System

64. The Subsidiary Alliance was introduced

by

(a) Warren Hastings
(b) Lord Cornwallis
(c) Lord Wellesley
(d) Lord Dalhousie

65. The abolition of British East India
Company’s monopoly of Indian trade was
done by

(a) The Pitt’s Indian Act, 1784.
(b) The Charter Act of 1793.
(¢) The Charter Act of 1813.
(d) The Charter Act of 1833,

66. The Asiatic Society was established by

(a) H. H. Wilson

(b) H. T. Colebrooke
(c) Charles Wilkins
(d) Sir William Jones

67. The leader of the Santhal Rebellian was

(a) Sidhu

(b) Birsa Munda
(c) Sui Munda

(d) Buddha Bhagat

62. SITHI-WI-5 FITH6 T9(a GEARE

(a) 1298 fa%%itw
(b) 1398 f&%%ic%
(c) 1498 fA51
(d) 1598 f2%its

63. i @ Siies IIEe W Ie

IEGR

(a) Foazdl Itz
(b) IO 77
(c) e 3z
(d) =zt =g

64. SRR Mgl Fif’ 26 waw

(a) SAEN @5
(b) 76 FHemlEH
(c) =76 SR
(d) =76 erRf

65. ot &+ 35 TR @renfe g
Jifdrera Reenet <ot =

(a) 1784 fa0itara B ©Ia® =I7a w[i3w
7|

(b) 1793 fasSicar 1B =izw =i |
(c) 1813 fEGitzr7 BB w3 @i |
(d) 1833 RBitara vibIT <IiEw = |

(a) 2b. €35, T
(b) €%p. . @
(c) wief el

(d) 19 T cee

67. Hesle Rz @t fEw

[15]
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68. The practice of ‘Sati’ was abolished by
(a) Raja Rammohan Roy
(b) Lord William Bentinck
(c¢) Lord Dufferin
(d) Lord Mayo

69. ‘Barnaparichaya’ was written by
(a) Vivekananda
(b) Raja Rammohan
(¢) Vidyasagar
(d) Rabindranath Tagore

70. Subhas Chandra Bose was elected
President of Indian National Congress in

(a) 1937 AD.
(b) 1938 A.D.
(c) 1939 A.D.
(d) Both (b) and (c)

71. The Rajya Sabha is presided over by
(a) The Prime Minister
(b) The Vice President
(¢) The President
(d) The Speaker

72. The ‘Republic Day’ is observed on
(a) August 15
(b) November 26
(¢) January 26
(d) February 12

Homiz e’ I I

(a) Aren AMICHIZA TR
(b) =16 TRferais AFow
(c) =76 ©iFfa

(d) =18 Gl

69, <[5 75 FEA
(a) farase™

(b) FrE AN
(c) RwrAe
(d) 7w SiPa

70. ST (@11 SIS GO FACTE TS

Fifve &=

[16]

(a) 1937 R6i=
(b) 1938 f26its
(c) 1939 f6i=
(d) (b) @ (c) &g

71. FEETeR Foloifey Faw
(a) eieal
(b) To=gAfe
(c) FgAfS
(d) Poera

72. ‘eerey Mt Al F4 = :
(a) 15 =ep%
(b) 26 TreFa
(c) 26 T
(d) 12 cwaafd
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Geography

73. Repetti Discontinuity is found in
between the layers of
(a) Sial & Sima
(b) Core & Mantle
(¢) Crust & Mantle
(d) Crofesima & Nifesima

74. Nearest place of earth surface to the
focus of earthquake is
(a) Epicentre
(b) Antipodal epicentre
(c) Hot spot
(d) Tripple junction

75. Which of the following is a metamorphic
rock?
(a) Coal
(b) Marbel
(c¢) Limestone
(d) Sandstone

76. The contact zone between N.E. Trade
wind and S.E. Trade wind is called
@ LTCZ
(b) Roaring Forties
(c) Howling Fifties
(d) Horse latitude

77. Which rainfall is also known as
‘4 O’clock rainfall’?
(a) Convectional rainfall
(b) Orographic rainfall
(c) Cyclonic rainfall
(d) None of the above

78. The rainfall is measured by
(a) Seismograph
(b) Barometer
(c) Raingauge
(d) Hygrometre

Cic

73. @& Referadt @ 96 wz= g ot T
©f 251
(a) P e it
(b) N ¢ SFNEE
(C) 9IT @ TN
(d) @i e b

74. SRRTI4 (A FAGE B8] oog Z
LGl

(a) Coltem

(b) afestm Seitm
(c) T~

(d) fasirs e

75. fasfaRe @m Fal wsie Ree
(a) T
(b) WA
(c) petefiam
(d) @M

76. T2 o2 = A S W2 of2 W IRF fifFrS
OYECF e
(a) LT.C.Z.
(b) sieieie BlEmit
(c) GEprearTe »wefea
(d) =Pl spsie|

77. @4 gRere ‘40’clock rainfall’ =ity
Afafoe?

(a) ifavew IRt
(b) tetETierEe IRBelT®
(c) 9 qRetr®

(d) Boitzm e 77

78. IRisiE 7w =
(a) PriCTeE
(b) TG
(c) @weore
(d) 2ReAIfEoE




79. The physical and biotic process to
restore damaged environment is called
(a) Homeostatic mechanism
(b) Heterostatic mechanism
(c) Mechanical mechanism
(d) Chemical mechanism

80. ‘Cinamon Island’ is the name of
country.
(a) Maldwip
(b) Sri Lanka
(c) Bhutan
(d) Nepal

81. In which of the following regions
Equatorial climate is not found?
(a) Indonesia of Asia
(b) California of North America
(c) Zaire of Africa
(d) Brazil of South America

82. The home made by Eskimo in winter
season is called
(a) Igloo
(b) Tupic
(c) Kayak
(d) Harpoon

83. The famous ‘Polder Land’ is found in
(a) North Korea
(b) Chile
(c) Netherlands
(d) Japan

84. Which igneous mountain known as
‘Light house of Mediterranean’?
(a) Strombli of Italy
(b) Sicilli of Italy
(¢) Mounalowa of Hawaii Island
(d) Visuvious of Italy

79. e AR e (A ATEEE T
T =
(a) @Ifesbiite mwifaes
(b) EBEPGNDE e
(c) creifaer rpiferem
(d) e crpifees

80. wFfT B w@ 1 =@ IR |
() woTarst
(b) Rl
(c) goI
(d) A

81. ez W wets i werarg o A A1 2
(a) afrmr T
(b) Tez wtafsa Wi
(c) SR TiEmRTe
(d) % e aifee

82. FEmITmE AreiE Ao
(a) 29
(b) e
(c) =
(d) 297

- 83. R ‘cotrrerz o’ ot T
(a) Tz @faame
(b) Pfecs
(c) CMiFeTSE
(d) wisifts

84. SRR AT W (B SHAfAfas

Q& ?
(a) Zeifer Fafe
(b) 2eifera Hffa
(c) 2eTR BAolw G
(d) 2eifem fofemm

[18]
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85. ‘Death Valley’ located in
(a) Rocky Mountain Range
(b) Andes Mountain Range
(c) Great Dividing Range
(d) Ural Mountain Range

86. The famous Niagara Falls are found
between two Lakes—
(a) Superior and Erie
(b) Huron and Michigan
(c) Michigan and Erie
(d) Erie and Ontario

87. Which of the following is a temperate
grassland?
(a) Campose
(b) Llanose
(c) Pampas
(d) Granchaco

88. The highest lake is Titicaka— which is
situated in '
(a) North America
(b) South America
(c) Europe
(d) Africa

89. The longest fold mountain of the world
is
(a) Himalaya Range
(b) Alaska Range
(c) Andes Range
(d) None of the above

90. World’s longest coral reef, the Great
Barrier Reef is located in Australia. It is found
along the Australian

(a) South-East Coast.
(b) North-East Coast.
(¢) South-West Coast.
(d) North-West Coast.

85. g Towral wafze |
(a) 3 oo
(b) =i sffose
(c) (ofb foeiafer wdouems
(d) T sfFeuey

86. f2Te IEIa TS @ 46 ZWR S ¢l
m_
(a) APifTma e 3
(b) === ¢ fifbsiw
(c) T e 3fa
(d) W ¢ wroife

87. FnFReef @mb FfeRitere gaefiz
(a) =IC>A™
(b) FICAA
(c) o=
(d) a5t

88. «faFx Swow v Hibew—aba wwgE &
(a) T&x WRER
(b) Wi S
(c) TEwMA
(d) wifEam

89, s Ao ST o4 2
(a) Taem oforfd

90. a3 Fdow 2@ @bl ‘ol QR
SR wRfEe | aft (7t 9w SR
(a) wEFe-sg Tofge 9139 |
(b) Tez-5F Toiga ITT |
(c) wiwet-sifos Tofe T1aa |
(d) Tea-+ifFsw Soige 7AI1TT |
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